H.W. #9 EE 220 Fall 2019

Show your work for credit!

1.
answers using LTspice. (4 points)

Find the voltages and currents in the following two circuits. Verify your hand-calculated

R1 R3
Va /\/\/ Ve Vd
Vs 3k 3k
R2
3k
3V R4
vh 3k é (a)

é (b)

2. Find Vout in each of the following circuits. Verify your hand-calculated answers using

LTspice. (8 points)

" Vin Ve /\l}z\/ Vout
Vs 2k E1 1k
R3 ¥ R4
2k = 2k
1.5V -6
(a)
3 Vin Vout
Vs 750 G1 750
R3 ¥ R4
1.5k = 3k
1.5V 1e-3
(b)

2 Vout

F1 750

VM
-1

R4
3k



